
Suggestions:
1. Two persons minimum
2. Assembled on the flat, soft ground
Note: Do not tighten bolts fully until parts all are connected 

Suggestions:
1. Deux personnes minimum
2. Assemblez sur une surface plane
Note: Ne serrez pas les boulons avant de connectez tous les pièces

x 1I

II

M8x40
x 12

x 4

ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE

01/05

PF-CH357B-BK

x 1

1

M8x18

M7x60

x 12

x 8

2

3

4



I

1

1

1

1

8

8

1

No
Nom

Hardware
Quincaillerie

A

B

C

02/05

Hardware
Quincaillerie

No
Nom

1
M8x40

8

2

3

4

M8x18
8

M7x60
4

2

D

E

F

3

4 x 4

C

D

E

F

ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE PF-CH357B-BK

Quantity
Quantité

Quantity
Quantité



4

1

2

x 8

03/05

2 A

B

3

ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE PF-CH357B-BK



1

1

No
Nom

Hardware
Quincaillerie

G

04/05

Hardware
Quincaillerie

No
Nom

1
M8x40

8

2

3

4

M8x18
8

M7x60
4

2

II

10
8,

02

H

I

J

1

1

2

3

4

x 4

ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE PF-CH357B-BK

H

I

J

Quantity
Quantité

Quantity
Quantité



4

1

2

x 4

05/05

2

3

ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE PF-CH357B-BK

G




